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Who among the following was first given the
additional charge of the Governor of Rajasthan?
(A) Swaroop Singh

(B) T. V. Rajeswar

(C) Kailashpati Mishra

(D) Dhanik Lal Mandal

ﬁmﬁﬁﬁﬁ#&‘émﬁﬁﬁm@mzﬁ
Wﬂuﬁﬁmmﬁmm?
Wasy e

B) & f AT

(C) Barerafa sy

(D) gfs & JUS

Great Boundary Fault is located in which region
of Rajasthan?

(A) North (B) South West

(C) Western (D) South East

g‘éﬁ T e o @ e WrT § raferd

?

(A) ST (B) féyor uf¥=H

(C) uf¥=rt Dy aféyor g

Where is the main seat of Jasnathi sect?

(A) Katriyasar (B) Shahpura

(C) Khedapa (D) Jaitaran

SRl e P 9E T el W 8/
B FaRRarE (B) e

(C) ST (D) SYRoT

@) Which of the following (Handicratt - Place) is

not correctly matched?

5.

@

E BYJU'S

ing 18 not an Emery)
¢ f the following 15 ald
Which one qn Rajaslh a7

mining #°8 (B) Tikki

::3: (S};f:f]:rda (D) Kalaguman
Wﬁ%ﬁﬁaﬁmwwm_ﬁ
?:) sl (B) feaa!

Ramsingh Bhati, Sahiba ang

Chand, Tayyab
g to which of the following

Usna artists belon
painting style?

(A) Ajmer-

(C) Jaisalmer

ﬁqmﬁﬁﬁﬁﬁmﬁaﬁﬁ T

g? A

(AT

(C) SHTTHY
Jaitra Singh was -
(A) The ruler of Ranthambore
(B) The ruler of Bundi

(€) The ruler of Jalore

(D) The ruler of Mewar

FARiE o1 —
(A)RURR &1 ITHD
(B) §1 &1 ID
(C) TR &1 ITHE
(D) ¥#ars &I YD

(B) Deogarh
(D) Shahpura

(B) qare
(D) TmEYT

(A) Ajrakh print — Barmer 8. Allah-Jilai-Bai is known in the field of -
(B) Jat patti — Nagaur (A) Mand Gayan
(C) Usta Kala —Bikaner (B) Manganiyar folk song
. (C) Havelli gayan
(D) Dabu print —Akola village (Chittorgarh) (D) Langa gayan
fafaflad & | @9 | (FRf¥cd—H) 3T — o — A @ Ygar by & A
(C) ST werr — diBTR (©) &R
< fire — arren fa (fretsa) (D) e
115 & B :
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9. Read the following statements about Rajasthan ((2‘ Who prepared the twenty one point demand
guman Rights Commission - letter called ‘Mewar Pukar’?
(A) The Commission may Suo Moto initiate (A) Manikya Lal Verma
inquire into violation of Human righbs. (B) Harideo Joshi
(B) The Commission may initiate inquire on the (C) Motital Tejawat
petition presented to it by any other person (D) Govind Giri
on the behalf of any victim.
Choose the correct code - Wy g’ AHE 21 FEAA e e daw
(A) Only statement (A) is true fasar wr?
(B) Only statement (B) is true (A) wiftrerrarrar anf 3
(€) Neither statement (A) nor (B) is true (B) gf¥da wireft 3
(D) Both the statements are true Y Wrfterrer dorrad I
TR Y JRHER I B R Ao (0) M= AR =
sEifefa st #Y 9y — 13. 74™ Constitution Amendment Act provides
(A) AT 79T ISR B Ioorad ¥ W@ 8 mandatory reservation for —
e U HR Gl | (i) Schedule castes
(B) f5ht ¥ &) 3k & fared) oy afdaT g1 (i1) Schedule tribes
SITART HY I Il gR JENT A" qRT (iii) Women
X FHaT & : (ivpBackward@lasses
w& RE D1 9F7 g — Chooseéthe correct code -
(A) P P (A) § & (A) (i), (i) & (ii)
(B) 37 HuF (B) 9 & (B) GV & (ii)
: (C) 1 T P (A) 7 & (B) W ® (©) (i) & (iii)
( T YT A & ‘ (D) (i), (i), (iii) & (iv)
} Where was Swami Keshavananda, a famous et :
F education saint, born? 7471 G WM ST Afvard srReor @5
(A) Harmawa village  (B) Rampura Beny YIaETH BT & —
(C) Mangloona village (D) Banaqu:vﬂlage (i) rgsafera snfoat & forg
(i) 3ggfad Seonfaatl @ f?-mr
(iii) #f2amRy &
(iv) o Tt & forg
i cn s O HEl B BT 949 BT —
1. Which (Conservation Area — Dlstﬁ‘ét)ﬁ“q not Vw/(r) (i‘i)QH' (iii)
correctly matched? (B) (i) U9 (ii)
(A) Rotu — Nagaur : (©) (i) Td (iii)
(B) Guda Vishnoi - Jaipur 33 (D) (i), (ii), (iii) T (iv)
(C) Gogelao - Nagaur 14. Which of the following is not a creation of Mani
(D) Sundha Mata - Jalore-Sirohi Madhukar?
(A) Pagfero (B) Jamaro
““" (relere &t — foren) Wt pferr i (C) Ras gandhary (D) Sudhi Sapno ke teer
ﬂ)@q—?ﬂm Pr=faraa & & @ @ SRy /v wfor myaw
B Te e — s : o Tdf 87
(C) Mt — AniR (A) TIrEY (B) STHRY
(D) FITHTAr — WTEiR AR ALY R Tierd (0) {fer wuet & e
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|+
than has been

15. ) Rajas
How many Forts of Raj NIl Heritage

included by UNESCO in the
List? ‘
(A) 5 (B) 4

() 6 o7

et A v @ R fall @ fawa
v e & wfiver far @7
(A) s (B) 4
© ©) 7

16. Who was first freedom fighter of Rajasthan who
was by the British in the freedom fight

movement of 18577
(A) Nrasingh Das

(B) Amarchand Banthia
(C) Yagyanarayan Vyas
(D) Kushal Singh

T @ WoE @A 9 O 1857 @
Tl ST ¥ S A B WY AShr

(C) TR &
(D) Tt e
- Vibhishan Temple is located at —
(A) Bhinmal (Jalore)
(B) Bhadariya (Jaisalmer)
(C) Kaithoon (Kota)
(D) Khed (Barmer)

frdror 7 AfeR oraftert & —
A dr ()

(B) e (i)

SO e (@)

19. Which of the followin

g book was not written by
- Pratihara Dynasty”

(B) Dharmsangrah

(D) Rajmridad

Mihir Bhoj of Gurjar

(A) Krityakalpataru

(C) Sarvashringar
Prakash

ﬁﬂﬁrﬁ!ﬂﬁﬁaﬂﬂvﬂwwmﬁgﬁw
& ffeR o gRy e TE 87

(A) BT (B) ervf U
(O A gF (D) ITgETE

@ln which part of the body do women wear

Damana Jewellery?”
(A) Ear (B) Nose

(C) Finger (D) Waist

mwﬂtﬁﬁmzﬁﬁmmﬁm‘cﬁ

{4
(A) & (B) =T’

(C) et L P IW

|/ Lodhruvais famous for -

(A) Laxminarayan Temple
(B) Ramdev Temple

(C) Juin Temple

(D) Vaishno Devi Temple

airean uftrg & —

(A) SR w4z & forg
(B) yea #Hfex & faw
(oy3 ey & forg

(D) o Y Hex & forg

. Which is the correct descending order of

Aravali peaks?
(A) Achalgarh — Jarga — Ser — Guru Shikhar

(B) Guru Shikhar — Ser — Jarga — Achalgarh
(C) Jarga — Ser — Achalgarh — Guru Shikhar
(D) Guru Shikhar — Ser — Achalgarh- Jarga

D) B3 (@eWR)

18. Under which Article of the Indian constitution,
Legislative council can be formed in the states?
(A) Article — 171 (B) Article — 170
(C) Article — 169 (D) Article — 168

e W b e T e, T
:?“'“‘Wﬂmﬁmmmg?
DT -1 By - 170
ATIIDE ~ 169 ) s - 168

115&@

IRl B AT BT FE JGRE HH BT
22

(A) IFTTE — SN — I — T R
BT RRER — IR — TR — IrererTs
(C)m—ﬁ?—aﬂm._ql—\qﬁrm

(0) % AR — ¥R — I=erTg — T
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B i

s

23. when was the Battle of Sarangpur fought? 27. Indira Gandhi Canal originates from which
(A) 1428 AD (B) 1437 AD Dam?
D (A) Nangal Dam (B) Bhakra Dam
© 1517AD (LAY 2 () [-[a_riie Dam (D) Dehar Darmri
Wﬂgﬁﬁwwm? mmmwwﬁmmﬂm??
1428 % (8) 1437 € (A) et ai (B) wre| ater '
g ol rea aw ©) 2& at
24. Which of the following ruler led the Mughal 28. Which National Park is included in Ramsar
army sent by Shahjahan against Shah Shuja? Sites?
(A) Raja Mansingh (A) Mukandara Hills National Park
(B) Jaswant Singh (B) Ranthambore National Park
(C) Sawai Jaisingh (C) Keoladeo National park
(D) Mirza Raja Jaisingh (D) Desert National Park
e B A g@u SaE IMER 9Ee ¥ wiEd
wEwEl g ARy B favg aoft ¥ g febar rar 7
a1 & FEfifed ¥ ¥ e e 7 A9 (A) gopexr ey wsfa Sa™
far ar? ; (B) Yok I1sfT SE
(A) TST WS : Oy FaaRT T I
(B) wrwa= e VN (D) wi® sy SEr
ard srafdE 29. Pti_ ngiu_nhpl':lcc “’Gnliakot' is located at the bank
(D) fast wre Srafde ofiwhich river” .
. : (A)*Parwan (B) Mahi
Thc total uumbcrst of Municipal Councils in (C) Sabarmati (D) Som
mlgsothan {asion 1 Jam(l;;yéim)are g gm e Aferare e T8 @ e fera
27
(C) 36 (D) 35 (A TRaH (B) HT&
S R 3 b C) Hiaw D
4 o @ i1 4 30 ;3131 Mi)::g)ent was qtfan)eji? 1921 AD b
) L R 1 \ S n \ Y
(1 2022 BT FAMEHE) & Motilal Tejawat from -
(830 (B) 34 (A) Matrikundia (B) Sanwaliya
(C) 36 (D) 357 S (C) Mandphiya (D) Devaliya
26. Which of the following (River- Place of Origin) TH =TT B g 1921 . "
is not correctly matched? .~ aoirad A el § Yo DI A7
<. . B (B) wiafera
() Ruparel — Udainath Hills (C) wosfthar (D) <aferar
(B) Jakham — Chhoti Sadri 31. Dry Teak forest are found in which districts of
(C) Som — Bichamera Rajasthan -
(D) Banganga — Sevar Hills (A) Bikaner — Ganganagar
: (B) Churu — Jhunjhunu
frafafaa & @ F99r _ Ify (C) Jalore —Sirohi
E Sk ) (D) Banswara — Udaipur
e w27
¥h ATTA 99 X & fe el § e
(A) FuRer — Sea eI &
(B) WIgq — WIS west (A) BT > T
©r5m — drever (Bras - 3
g el % ey Freie — fRrer
%, SEUERL (D) 9rHATST — SEAYR
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32. The ‘Sangeet Raj’ compmcd by Maharana

Kumlbha is divided into how many Ratankosh?
(A) 7 =9
© s ©) 4

wErron @en R 0 e oo e
T ¥ R ¥
y (B) 6
)5 (D) 4
33. |n world, Rajasthan is situated in which
hemisphere?
(A) North-East hemisphere

(B) South-West hemisphere L h—
(C) South-East hemisphere
(D) North-West hemisphere

R ¥ o B ene A Rerd 87

(A) TR — gt MarE
(©) =R — gt e s

(D) SR — af¥=dr MorE

34. Where is the Central Sheep and Wool Rescarch
Insritute situated?
(A) Tonk
(C) Avikanagar

(B) Jaipur
(D) Malpura

gy ¥e AR T ATHEE WO Hel Rerd
27
(A) eI (B) SqT®
ey ST (D) ATeTgT
35. Manikya Lal Verma was one of the founders of
which Prajamandal of Rajasthan?
(A) Shahpura (B) Mewar
(C) Jaipur (D) Hadaoti

AT 99 69 gumves @ aRud ¥
Uip o7

napada successful in destroying the
power of Kushans in Rajasthan most probably?
(B) Arjunayanas

(D) Yaudheyas

36. Which Ja

(A) Shivis
(C) Malavas
Wﬁ@mwﬁ%}ﬂaﬁ?rmz T B H
A — 91 99E GHS & or?

) frfa (B) arofra=
(C) HreTal (D) #ery

37. The Chief Minister Rajneer Yojana in
Rajasthan was launched in -
(A) 13" March 2018  (B) 13" March 2020
(C) 13" March 2021 (D) 13" March 2019

TR A JEHA! AR AT BT PR

(g:)rrla A 2018 §  (B) 13 #rE 2020 A
()13 WrE 2021 § (D) 13 #rd 2019 ¥
38. Western. Zonal Railway Training School in

Rajasthan is located at -

(A) Udaipur (B) Bikaner

(€) Jaipur (D) Jodhpur
SR BT UiREHl & Yed Wi who
Fel fRd 87
L) FEagR A (B) fidrR #
(C) STAgR | (D) SiTergR H

39. Saint Bakhanaji, Santdasji and Sant Rajjabji
belonged to which sect?
(A) Kabirpanth (B) Laldasi
(C) Dadupanth (D) Ramsnehi
HHEH | Hafed o7
(A) FHaRG (B) SAreraT=l
(CraTquy (D) IR

40. To which step brother of Maharana Pratap did
Akbar grant the Jagir of Jahazpur?
(A) Shakti Singh (B) Udai Singh
(C) Madho Singh (D) Jagmal Singh

HERTT oy & fhy dida 98 & da |
SRR & SR gar @ off?

::;::g \(t:zm (A) o fye (B) Seu fRie
: S (©) e i D)STier e
115 ¥ i
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115.

116.

118.

i

In a Sillg[t‘ phase ful) cony
load and firing angle :
zero and zero, respe
(A) n and x- G respectively
(B) cand 1t - o rvxpccm'cl.\‘-
©) n-a and o respectively
D) t+a and o respectively

g erter with resistive
oy The !n;ul current is non
Chively for -

iR “Wﬂa’" TR 3R Sl sy o @ T, 0@
hel— T 9Rades ¥ HiE U YT SR
T B0 s fa 82

A x 3R n-q

B a 3R n-a b
©r-a ik« .

®) x40 3R o

A HR.C. fuse is -
(A) Ceramic tube having carbon rod inside it

(B) Heavy cross section of Copper and
Aluminium

(€) Ceramic body having metal-end caps

(D) Wire of platinum

TEIRA. (HRC) Tg7 &

(A) RRf® =g e siex &= e 2

(B) 1R T TYRAFTH &1 g8 U BIC
(C) RfAs S s Hea—yvs o 2idiE |
(D) e 1 AR 4

If a frequency modulation signal isaepresented
by — PR,
V(t) = 10sin (5 x 10°t + 3.5sin 1500t)
Then modulation index is - ~\
(A) 3.5 (B) 0.35°

(C) 45 (D) None oi the above
afe v% gy Hgyerer Had S gafid foar
e 2 — (

V(t) = 10sin (5 x 10°t + 3.5sin 1500t)

a1 AfsgeT 3oad & —

(A) 3.5 (B) 0.35

(€) 45 (D) IR H | Hig AN
Which of these materials require the least value
of magnetic field strength to magnetize it?

(A) Nickel (B) Sodium chloride
(C) Tungsten (D) Silver
=4 9 g ygred &1 gafdd a1 & fog &n
W B9 GEPIG &4 D) AHa P TILGDHAT BTl
27
(A) fAfda (B) ‘HY%IW FANTZS
(C) TR (D) =re

115 ®

119,

120,

1214

Page 19 of 32

I'he ¢
€ Totor power output of 3 - phase induction

mo | '\
1or is 15kW and corresponding slip is 49

The rotor copper loss is

(A) 700 w (B) 625 W
(©) 600 w (D) 650 W
3.4

D §EF W F1 Aew ASLYE TR
ISkW 3 aagar Rerm 4% # | 9t P dfa
BT

(A) 700 w
(C) 600 W

(B) 625 W

(D) 650 W

A properly shunted centre — zero galvanometer
is connected in the rotor circuit of a 6 — pole, 50
Hz wound - rotor Induction motor. If the
galvanomieter makes 90 complete oscillations in
one minute; the speed of rotor would be ~
(AROT0 rpm (B) 740 rpm

(C) 1000 rpm (D) 880 rpm

el ifer siee B — I TeaArey &
WAV 6~ ga. 50 Hz 9@ ¢ 9oie IR
#iex @ pfe uRey ¥ fear w2 af
Tea ey 90 qot Srerd wfe fiFe &var &, @
qUiE BT T SRl —

(A) 970 rpm (B) 740 rpm

(€) 1000 rpm (D) 880 rpm

During a test on separating calorimeter the
following observations were taken:

Mass of water separated = 0.5 kg/min

Mass of steam passing through calorimeter =

5 kg/min

The dryness fraction is -

(A) 0.905 (B) 0.990
(C) 0.909 (D) 0.902

o PdARMIeY Uh GdEr & aRH
frefafiaa s@eid By v —

QY T ST I S = 0.5 fmm / e
Perfey ¥ YOE AN W9 BT N
= 5 fap / fArTe

AT 3E BT —
(C) 0.909 (©) 0.502
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122. Normal value of jet ratio in pelton wheel is - 126. A disc spinningA on its axis at 20 rad/s will
undergo precession when g torque 100Nm is

(A) 12 (B) 1020 ‘ ‘ L =
applied about an axis normal to it. If the mass

(C) 140 ©s moment of inertia is Ikgm?, then angular
Yees o ¥ S srue A were ™ 8 - velocity of precession is -
B (A) 5 rad/s (B) 1 rad/s
(A) 12 (B) 1020
rad/s .1 rad/s
(€). 140 © s ! o ‘D’%; m‘; -
g i 20 rad/s 9¥ 3G+ L4 oAl U e
123. : . -
For a sq;:gn: key m::]d‘c. of m;ld Ztccl. the shear e frfr f o wr o
and crushing strengths are rc ated as - 100Nm ®Y 0% 387 3 ?Tl'g f’f!‘ﬂmr‘ﬁ!l AN o
(A) Shear strength = Crushing strength frar simem &1 af2 sre @y Ta STt 2
(B) Shear strength > Crushing strength Ikgm?, & gdam &1 Pyofrg o7 2 '
(C) Shear strength < Crushing strength (A) 5 rad/s ABY' 1 rad/s
(D) None of the above (C) 2 radss (D) 0.1 radss
mneee WV A 7 anfer aﬁh% fare argwgor 127. A unaformly distributed load w in kN/m is
3R TEw v wiRg ] acing_over the entire length of a 3m long

cantileVer beam. If the shear force at the mid-
point offeantilever is 6kN, what is the value of

(A) suw9y wifte = faa wfg

B)-sysyer wfd > maa v S

(©) Sraww i < g wfm (A) 4 (B) 3

©) 375 |§ 1€ 78 © s (D) 2

124 A body which partly absorbs and partly reflects

but does not allow any radiation to pass through 8% ¥ _" Y W fAaRa 7R w (kN/m) &= ‘EE?

it (@+p=1) and (1= 0) is called - Fﬂ@ﬂ PR 9 & G o gv s o

(A) Specular (B) Diathermanaus IR A B 77 g W Bt 797 6kN g, ar

(C) Grey (D) Opaque W BT HIF gr? |

% U3 i anif¥re w9 % suifie C oG K L((:ﬁ tg:’ 4
RF B9 wafiq T & it fBsi, - 128. A diesel and Otto cycle have the same

o &1 w3 e H TR @y CIn] compression ratio ‘r’. The cutoff ratio of the

cycle is ‘S’. The air standard efficiency of the
cycle will be equal when -

81 Zar 2 (o+p=1) 3R (v=0) Fgeren & —

(A) Wager (B) 3=y — ﬁrei (A) §"—r(S+1)+1=0
© % (D) arayee (B) S —r(S-1)-1=0 L
125. Modulus of resilience under simple tension is - ©S—rs-1)+1=0
(A) o* (8 2 O §'=r S04 =0
E 2E
(C) 20 (D) o2 U% Bore sk e =@wp § |He Hirsq YT
E o 'r‘%lﬂ‘:ﬁzﬂrmaﬁm&“ﬂm'?hwﬁ
Y HAH arar quaw wnf) g —
¥ i
:{amﬁmmmm gy SR
(Ma, ® = B) §*—r(S-1)-1=0
(C) 20 (D) o ©rs —rs-1+1=0
I 2E (D) S'—r(S-1)+r =0
115 @ ; K, “Pnnemt;ﬁ__ .

N —
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129. If the slendemess ratio ig

R less than.............the
E:llﬂ § formula foy 4 mild steel column is not
(A) 60 (B

(©) 120 o

afd g’m T U T et @ R

i G e 1 N &y g, @ u 2
(A) 60 (B)-8)

130. An orifice meter, with C, =

by venturimeter wjg, Cy =
carrying crude oil, havip
diameter as that of orifice,

0.61 is substituted
0.98 in a pipe line
g the same throat

For the same flow

rate, the ratio of Pressure  drops for the
venturimeter and orifjce meter is -

(A) r0.98\2 [ Jrm——
(%) s A
S) (0% (D) 061 :
0.61 0.98

waﬁﬁﬁmwmﬁﬁm

(Ca=061) & &1 gy R Fraies
W(Ca=0.98)%$mwm_mﬁ
S e

(A) 2._1;_3)2 (B) r061\2
061 (IJTe' Yy

' E';) (D) 061 ¥
0.61 0.98

131. An engine operates between temperature limits
of 900 K and T, and another engine operates
between T, and 400 K. For both engines to be
equally efficient, the value of T, should be

equal to -
- (W 625K (B) 600 K
(©) 700 K (D) 650 K

- U% g9 900 K 3R T, @ agHE W @ 4y

 Wuifera e # @ e §99 To eI 400 K
@ drg e A &, A A SO T oy

(A) 625 K (B) 600 K
(©) 700 K {9-650K

132. To ensure the stability of a spring controlled

133,

134.

135.

governor the controlling force curve must
confirm to the relation -

A F=Cir-C, (B) F=Cir

€) F=CiP (D) F=Cir+ (2

RerT Frafier sty @0 Rerwan gffaa & forg
P ae @ e waw 2 e & -
ijF=C|r—Cz (B) F=Cir

C) F=q,2 D) F=Cir+C>

A drawing with frame and title block can be
insefted using.......... command.

(A) DPRAW UP (B) MV SET UP

(€) DRAW SET UP (D) CNC SET UP

WH IR 2gEe & A ST B B P
PIITUTT FRD STAT S AT 22

(A 5T o (B) gsdt Heay

(C) $f Heamy (D) ¥io==ft Yeay

In double slider elliptical trammel mechanism.
midpoint of connecting rod of sliders will
trace -

(A) Ellipse (B) Cycloid

(C) Triangle (D) Circle

STl TITS AVSTHR 27 a7 . waroh we
&1 7 g 2w we —

(A) SregaTaR BY bt

(©) frqw (D) g

The volume of fluid confined between two gear
teeth of a gear pump is 0.350 cm?. How much
fluid volume is pumped per rotation?

(A) 7.0 cm? (B) 9.8 cm?

©92cm’ (D) 8.5 cm?

Page 21 of 32

AT 0350 W 2| wfy e a1 =q

HIAT by Haar &7

(A) 7.0 ¥2 By 9.8 3y 3

(C) 9.2 3wy 3 (D) 8.5 Hy#ft
____'_'—‘—————.________
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136, What happens when the thickness of insulation

on a pipe exceeds the critical value?

(A) The heat flow rate remains constant

(B) The temperature rises at
between pipe and insulation

(€) There is inecrease in the heat flow rate

(D) There is decrease in the heat flow rate

T BT 514 UP UIEY GR GRREE @ wrerd
TEaQl {1 ¥ I 8 e 27

(A) T} yare =X Rer wed &

(B) a9 91y SR wferes & dra s, o

(8 T v <X F ofy e R
(&) T yarE X F B R
137. Ifa piece of metal having a specific gravity of
13.6 is placed in mercury of specific gravity
13.6, then -
(A) the metal piece will simply float over the
mercury with no immersion.
(B) the whole of the metal will be immersed
with its top surface just at mercury level.
(C) the metal piece will be immersed in
mercury by half.
(D) the metal piece will sink to the bottom.

the junction

afe 13.6 fafre 1o areh- g w107 g@e
13.6 fAf¥re 7o wed # v o &, a1 -
(R) 919 FT THST WP 3 dF D HUN Gl
. Xem|
_(BL1g ST HE WHI B HIw b I¥I€Y o4
ST |
(C) &Tq F1 THST AXBY H I §F QT |
(D) &1 T THST A9 a6 Iq AT

138. A cantilever of span 3 m carries a point load at

the free end. If the slope is 1° (0.01745 radian),
the deflection at the free end would be nearest
to —

(A) 69.5 mm
(C) 26.2 mm

(B) 17.5 mm
(D) 35 mm

UF AFe 9, 3 #. aw, gam BR W s fig
TR 989 PXal 2 | A Fa9 R 1° (0.01745
g:fr)%. @ a9 BR w® faggw fisdead

(A) 69.5 i, \,an{?.s oy,
(C) 26.2 . (D) 35 fdr.

139.

140.

141,

142.

115 &
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arallel plates of same emissivity 0.5
ed at different temperatures and
. diation heat exchange between them. A
ha‘;{c r'i?,h:;:ﬁ:rl]d of emissivity (.25 placed in the
mc;iljt[lc will reduce radiation heat exchange to -
(Jﬂ;l} 1/4 (B) 3/10
Qs (Gc_ﬂxﬂ'c;:: | 5) &1 a1 Fq
A SoHAD = 0.5, ABGE]
FRTATAR ©ie SeTT—ATT TGHAT IR AN Teht
¥ 3R 99 419 fafepzor e fafeea gmar 2
$rg & @1 T 0.25 Icasiwar &1 fafdeor e
fafepzor amg faffma &1 &8 F= I
(A) 1/4 (B) 3/10
{8Y3/5 (D) 1
In radial bearing - _ _
(A) The bearing pressure is exerted at right
angles to the shaft axis
(B) Thebearing pressure is exerted at 45° to the
shaft axas
(C) “The bearing pressure is zero
(D) None of the above
e, dafRT H —
(A) g8 qaT9 9T 3T B FHASIT GR T
P
t

Two long P
are maintain

(B) 3T <41F wI9< 3787 P 45 M W T
8

(€) 37T 2919 I Bar ?

(D) 59 | ®Ig el

The speed of an engine varies from 210 rad/s to

190 rad/s. During a cycle of operation, the

change in kinetic energy is found to be 400 Nm.

The inertia of the flywheel in kgm? is equal to -

(A) 0.2 (B) 0.55

(€) 0.1 (D) 0.5

UP ZoF &I T 210 rad/s ¥ 190 rad/s @
=1 81t 8 | wemerm @ 0 ww @ SN
Soff § gRad 400 Nm wrnm Srar 2| werd
@Il B el (kgm? ) fras ax@Ew 2fr?
(A) 0.2 (80.55

(©) 0.1 (D) 0.5

For stca_d)f state and constant value of thermal
condqcuvaty. the temperature distribution
assoclated with radial conduction through a
cylinder is -

(A) Logarithmic (B) Linear

(C) Exponential (D) Parabolic

ﬁu?W&hﬁTdﬁqu%ﬁmﬁ;@??

R U dereR @ maw & frodr wre
ST famvor & —

(&) Sregmores By R

©) ardics (O) W
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Y is sypy;

e P]al:PJecled 10 a direct tensile
ique Section of et 'EN norma) Stress on an
Normal of yy,, .Y InClined o an angle to

e A € Sectiop is equal 1
O cos? g yord

©) osin%

©) & sin% '
144, Eora reaction turbine, the

the inlet is 12° 2uide blade angle at

— - For thig turbine, the degree of
mon IS zero when the Vane angle at the inlet
is -
(A) 23 (B) o
(©) 70 (D) 120
s gfafdar ? f, 39 W Tigs
r@‘{sﬁ‘fﬂl?%lma’iﬁ:{*ﬁﬂ-m
aﬁ%ﬁ:@'aﬁ%mmaﬁwwﬂﬁ
HIT AT & —

M3° (B) e
(©) 7° (D) 120

145. A body cooling from 80°C to 70°Qytakes 10
minutes when left exposed (0 environmental
conditions. If the body is 10 cool further from
70°C to 60°C under same externa! cg‘;ﬂitio:\m. it
will take - ? y

(A) Less than 10 minutes { 4

(B) More than 10 minute,

(€) Sometime of 10 minutes

{P) Time will depend upon the environmental
conditions

*‘_.iasﬁasmcﬁmf*cﬁwgﬁﬁ L
A & w4 gafaeed aRffE 4 Bl fan
ST & | Af 3 %1 70°C 4 60°CTH 3R w1

- S aEd Refy ¥ @, @ aE -

146,

147,

148.

charge 5 storage bat
‘ from the
surrountlings is 0.3 g

amount of energy sto
hours? j

(A) 23225 kw
(€) 32554 kw

Llery
battery g the
W. What will be the

red in the battery in 2

(B) 14111 kw
(D) 41040 kw

wmamﬁqawfaqamﬁkw
aﬁaﬁﬂahgamﬁamwmmwnm

meﬁmmwmama,ftrmﬁm
mgumamﬁm %Y 0.3 kW
W Fort 1w

(B) 14111 sty o=
(C) 32554 fpay 9 (D) 41040 fFa ar=

Name the gear which adds or subtra
displactmen;

Cls angular
(A) Bevgl €picylic pear
8) Revereq gear
(C) Ditferential sear

®) Compoung gear

mﬁwaﬂmaﬂma‘lﬁmﬁwmm
SIS AT werar &

M) 999 vfEERes fing

(B) Rads firw

(€) Rw¥firre fir.

(D) A firr

A clearance fit is obtained from -

(A) H7/n6 (B) H7/g6

(C) H7/m6 (D) None of the above

TR fbe w2 —

(A) H7/m6
\_(SYH7/m6

(8122225 fray

(D) 379 9§ =1 8

149. The bending stress in a curved beam is -

(A) Zero at the centroidal axis

(B) Zero at the point other than centroidal axis
(C) Maximum at the neutral axis

(D) None of the above

(A) 10 fafse | &5 @ Wwﬂﬁ:jdﬁnﬁmﬁ%—
(B) 10 fafe & sifera o (A)Waﬂ$‘ﬂ 3
() 10 fAfye @1 T w5 @ (B) B Il B SN I Ry R ¥
- ygtaor 3 ferfd o) iR s LQJHEWGIET‘WG@W.
g (D) S & FE A
115 & Page 23 of 32
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167

Aot metallic wall at 100°C, a metallic roq
150. 111 a strained material one of the principal stress 1o I.I:,‘::u.ie-‘ to the ambient air. The ICT"Pt‘rH!urm
equals twice the other. If the maximum shear nlrmc tip will be minimum when the rod is made
stress 1S Tyae . then what is the value of of - 8) Steel
maximum principal stress? (A) Bronze (D) :'TC
(A, ST;..... (B) tmn\ 'I (c) C(]pp('r ( ) sl
.
(c) L‘t..m (D) 4T||\.1\ < ‘Q’m aﬁ:‘! ﬁ m}' I\rr}; r”q 7,%" 'fTW H “J”ﬂ(
_ St : #) iR Freed 21 98 3 A
o aeEget Sl ¥ v wa ufdae @R 9 5 2 T m{;}m 2hiT o4 B8 B ey
A B R ow Rufy F st s gmi_'”
TR e B, W GfwE Rigia sftes &1 < &) T (B) zTa
HE R 5 (&) aan (D) =&
(2} 8Tmax (B) T 155. Numerals for vertical lines in unidirectional
(C) 2tmm. \SDHTm.u dimcn!ii()ning are -
151, The weight of rope in newton’s per meter length (A) written parallel to dimension line
is gencrall?' taken as - 2 . (B) written inclined
(:) 0.59 9- (D) 04 d: Eg (C) always vertical
©05d (0) 0.6 d* <= (D) aligned along dimension line
R 50~
T B AR AR e 96U iy Wew war ¢ YrerTd S H 5i99d @RI @ for
# forar o @ — IS T o S -
:ﬁ:’gggdd :g; gg S, 11 () T YT & gEEaR frEr T
152. : i R o ; (B) faif¥ae s
A hydraulic press has a ram of 250 mm C) &hen w@ad
diameter and a plunger of 25 mm diameter. If () 2 '1“;[ 3 ;
the applied force on the plunger is 40N, then DY ST YT B WY R
determine the weight lifted - 156. Aq epicyclic gear train has 3 shafts A, B, and C.
(A) 5000 N (B) 3500 N > I A is an input shaft running at 100rpm
(C) 4005 N (D) 4000 N ch clockwise. B is an output shaft running at
‘ uo 250rpm clockwise. Torque on A is SOkNm
UF ErEgIfere UW # 250 Tl @ &1 ve ¥ T (clockwise).C is fixed shaft. The torque at fixed
3R 25 frft. @ @1 U@ eIk BT B Ui shaft C is -
SR % ST T 96l 40N B, o 99D gRT (A) 30kNm (clockwise)
SOIY Y ¥R &1 {HERe R Eg (B) 30kNm (Anti-clockwise)
(A) 500(_}N () 3500 N T (C) 20kNm (Anti-clockwise)
(€) 4005 N (BT4000 N ég (D) 20kNm (clockwise)
133. In Pelton turbines, as flow takes place, there is ¢ '
h in - Kip) Rreref & : .
;:A;r‘lf;:):ity only + W?Tﬁ g ?F'Wﬁ : e
: N1 C A E e (o s
(B) Both velocity and pressure . afRonad Wgai 8 Sit_100rpm
(C) Pressure only k- H eye ‘II( ) w2 “--B‘% —S®
(D) None of the above o 2 o 250[0"—]:31
(FADAEH) =l Yer &1 _A W ofE SOKNm
e SRATEA #, T4 41 g &, o A Tqer mﬁlﬁmwﬁ_ e C
g . . —_—
(B} vd Ta1g B ®) 30kNm (ammarer a1 GA—aitmarza)
(C) #ae zama OkNm (armra a1 ¢&—awiterarss)
(D) 3% W B TE () 20kNm (zfrorras)
115 @ Page 24 of 32 e
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rod 157. :
e ;I:Ie continuity equation fot
ade at - a steady flow states o evands +
| (A) Velocity is tangen; 81 U B e 2
8CNtial to the stream lines (A) wrfe e «
! () Velocity fielq 1 continy ' o e Hh |
ous g
' (C) Efflux rate of m = fiiah R
o as: 5 g Aty
?%g | e S through the control (©) IR Aew ww CEd
Afor ,| (D) Stream function ex; ©) s #rite o w
EX1sts for steady flows 160, Offger
TP far _ s Set gauge value to denote vie
! a ﬁ; B vaE @ FGQ ﬁ_\'?ﬁfa‘[ Ee L AT ::;_ stress-strain dmgfum . enote yield point on
= (A) 0.2%
- -’ A F7 a1 B Ry el Yy @ % iﬁroi:f(
. t~ N . /0
] (B) ¥ &5 fivax ~— (©0.1%
. <™
: _Wm%mgmaﬁm (D) 1.0%
L ' uferae— ;
| (mﬁmﬁga\, <t R o ® 6 o A 7t e
: o : qarE WWWW? E ﬂ‘?ﬁ*’f”ﬁmﬂméq%—
o gy hich OF the following are the inversions of |~ (8 0.2%
double slider crank mechanism? =3
I Oldham coupling b Q®) 0.4%
I Whitworth quick return mechanism - (C) 0.1% RrE
I Beam engine mechanism (D) 1.07
IV Elliptical rammel mechanism 161. ¢
Select the correct answer from the.code STveh . N ; » Choose the correct sequence of hydraulic circuit -
below - = (A) Penstock, Guide wheel, Runner, Scroll
::: Iand IV (B) LI, 1118y P casing, Draft tube
IL, 100, IV D ¢
I, A (D) Tand 1.1#,L s 44; (B) Draft tube, Guide wheel, Runner, Penstock,
> 2 3 ¢ 37 P :: Scroll casing
1 Gﬂﬁ"{ (C) Penstock, Scroll casing, Guide wheel, Draft
0 faced s N fafA <t RApSSTFATRE
oI #9 go= Afr S_:)__ (D) None of the above
IV  JUSBR gid ADMAVH <t :
TRgIfe wftic &1 WEl U g —
: # 2y 7 FHe ¥ | IR gAY — 8 = " .
1 (A) 1 FaTIV I I0, 11 o W Y eet®, MES A, TR, Whid DR,
g' (© 11, 1L, IV (D) 1 @T I 4T e T
r B) g7 RIEE TR, URE®, B
| 158. Gas turbine cycle works on - (®) RES S '
BT
' (A) Carnot cycle v ,
(B) Brayton cycle
, ¥R
(C) Reversed Brayton cycle < o Tt
D) g% 9
(D) Reversed Carnot cycle QA
I A i
l page 25 of 32
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162, 1w,

msulating  materials  of  thermal

oonduclwuy K and 3K are available for lagging

a pipe carrying a hot fluid, If the radial thickness

of each material is same -

(A) Material with higher thermal conductivity
should be used for the inner layer and one
with lower thermal conductivity for the
outer

(B) It is not possible to judge unless numerical
value of dimensions are given _

(€) Material with lower thermal conductivity
should be used for the inner layer and one
with higher thermal conductivity for the
outer

(©) It is immaterial in which sequence
insulating materials are used

ardig TearK AR 3K B <) sgae vawf ww
T T TSR o 9 A U9 @ AT @
fov Suerar 81 AR TRF TEnt @ Wua
e WA R A — |
(A) 551 arfig aradar e gerRl d1 SugnT

RS T¥d & forg 3R &9 andra arcqa g

ma’lwefaﬂmm‘maﬁ;ﬁ$mﬁm

W MRy

(B) Sfa d% AT $T WEATHS WA e
ST 8, T4 OF TUAT BRAL HHI TEL B

G Ireiddl are) gerRf &) Sua

SHiRE T B fore SR S A i
TR T B S e B R R
ST ARy ‘,{_:. /ﬁ

m)wmawmﬁr g
1 YA A S 2

163. Which of the following is not an editing featurc

in CAD?
(A) Trimming a line T
(B) Deleting an item -
(C) Mirroring about a plane
(D) Changing text
?wma A ¥ B CAD ﬁ Q‘%%fr HrER e
?
(A) w3 @mga fefim
~BYFH smgen B ger
(C) firfér wag & ar #

164.

165.

The unit of thermal diffusivity is -

(A) m’ /hr \‘@ m?*/hr°C
(©) m/Mr°C (D) kcal/m?- hr
iy SR B P & —

(A) m*/hr Wﬁc
©) mMh°C Keal/in - hr

A spur gear transmitting power is connected to
the shaft with a key of rectangular section. The

type(s) of stresses developed in the key is/are -

(A) Bearing stress

(B) Shear stress alone

_(C)‘ Both shear and bearing stresses
(D) Shearing, bearing and bending

wm"ﬁmmﬁsﬂma‘,mw

WS F1U® Ef B A T g 2, W

P WARYT AT & | o A Rafed amal &
YR & —

(A) fagfRar a-ra

(B) ®gdl Rrx 999

eI TR 3R faafd e <Y

1“.

(D) Rraf¥r, faafr ik g grem a-1a

The permissible value of angular speed, so that
the wheels do not get lifted from the rails is
given by -
(A) Pg (B) 2P
= [-8 = |28
O = Bb Q= Jm

(€) (D) 3
Wﬂi’t‘?ﬁuﬂf?fmaﬁﬁmwﬁ,mﬁﬁaa}v%q
SR T I3, far ar & -

(A) g (8) =
b &7 \/w4 ___Bbg

(© Pg ) 2P
~ \2Bb 53 _ng

Page 26 of 32
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[ 167. Consider the r‘3'"(1"»\'il'lg Statements —
L Governor's

function is to control

ﬂuclua'tlons of speed about mean speed
of engine,

Governor'g function is to control the

meat’l Speed of engine as the load
requirement changes,

Which of the above statement(s) are correct?
(A) Both I and 11 (B) Only I

(C) Only 11 (D) Neither 1 nor Il
Pt sumt w Rgr w3 -

L TR & ae gom o sha iy @
W F MY & Sar—ugE B P
T ]|

TAR 1 B o 9 s R @Y
Fafa wv @ wifs e amava@an
3 uRads 2rar 2

SRF A A PN 5o Gd) 2

| WaAF T I (B) aer I

(©) Faa 1l (D) 5 ar [ a1 =1 & 10

! l 168. The tumning moment diagram for a single”
? cylinder double acting steam engine congﬁi of

positive & negative loops above & belowthe
average torque for the positive loo i

the speed of flywheel at the b
~ endis—
~ (A) Equalto 1 -5 £
(B Less than unity \\;\1» ‘
- (©) Greater than 2
~ (D) Zero G
qamet fors ﬁ?;ﬂvaWw Wik

A g iR TS U B € | T
&1 I Frefaled #§ | B w82
" (A) 1-5F aRTER

169,

170.

W) e
.

172.

Select the correct option from dr_:.wn hcln;.\r I:::I
.lhc angle of thread respective O different thres
profiles — .

(A) Acme : 29°, Unified : 45

(B) Acme : 65°, Buttress ! 45° )

(©) Acme : 29°. British Associated : 47.50

(D) Unified : 60°, British Associated : 45

(A) wad : 29°, gATmTES : 45°

(B) e ; 65°, gwar : 45°

(QLuif: 29°, faf2er waw : 47.5°

(D) Az - 60°, fafewr wa= : 45°

Heat transfér takes place according to which
law of thexmeodynamics?

(A) Thizd (B) Zeroth

(C) Second (D) First

w8 P R Semare & fea G
@ IR Bl E?
A T (B) SRy

_AD)-erH

A gyroscope is a spinning body which is free to
move in other directions under the action of -

(A) Internal forces

(B) External forces
(C) Gravitational forces
(D) None of above

Hitter s waE 7 @ o 5 eriad @
TEd T R 3 o @ fow wdm @ —

(A) ar=iR® T

@B oTgy 9

(C) oy ae

(D) STt # |F F %

In order to avoid the effect of capillarity in
Manometers, minimum tube diameter used is -

(€) 10 mm

e 5 TgE = W sy f AT
(C) gy § wurer 77
& Mﬁﬂh (B) 4 fiydfy
. (©) 10 fiy, (D) § fory
15 & Page 27 of 32
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nsmit a torque of
is not to exceed

ameter of the

173. A solid steel shaft is to tra
10kN-m. If the shcarin_g stress 1
45MPa. find the minimum di

shaft -
::)a 104 mm (B) 01 mm
(C) 1040 mm (D) 10 mm

@ 3 e B8 10 kN-m #1 Y87 Faia
aavﬁ’téauf«’:mmamd,nd?aﬁmm
81 &), o B P YAH AR FA N —
w A, (8) 01 fard,
(©) 1040 ). (D) 10 fAs.

174, intensity of turbulence flow refers to —
(T:Ic‘fl;::fgﬂem. eddy or Reynolds stresses
(B) Average kinetic energy of turbulence per

unit mass _
(C) A correlation between the fluctuating

velocity components :
(D) Root mean square of turbulent velocity

fluctuations
warE @ dtear @ et & —
(A) 3reria, TS AT XAlegd dId
sﬁqgamﬂﬁarmﬁa% airga Tfaw

(©) FT AP B B D 4rF HaW :
(D) & a7 T A JAR — T b1 a1l
175. Cavitation in pump occurs at -

(A) Suction side (B) Delivery side
(C) Both sides (D) None of above
gRg ¥ RPIET BT & —

(A) gy A & (B) ya N TWH
(CL=FTT A 0 T ¥ P &

176. In a single acting (wo stage reciprocating
compressor with complete intercooling, then
the ratio of cylinder diameter for the low and

+ high pressure cylinder is given by -

(A) & _ Py (B) g4, P,
dz Pz d—z- = P—l
© —d—z = o] (D) dy Py
dl Pl d—z- — E

. 3 _
fore ot simefiae &), % wea zama 7 e

1 Rictey # @ &1 s ar & —
W) & _ B (8 .
v’y % Al

Py

177.

178.

179.

180.

The frequency of primary and secondary foree

in reciprocating masses and conform 4, 1h..
ratio -
(A) 1:1
(C) 1:2

(B) 2-1
(D) 14

12 (D) 14

Type fit use for a slide journal bearing ang
sliding gears on shaft is -

(A) H5-h5 (B) H8-b7

(C) H6-16 (D) HS-e8

(A) H5-hS By H8-b7
(C) Ho6516 (DJ HR-eR
For a ductile matenal, the limiting value of

octahedral shear stress (7o) is related to the yield
stress (Sy) as -

(A) T,= Sy (‘\/-2/3)
© t,=5,(¥3/2)

(8) To= Sy (3@

(D) None of these

e a9 et @ fou swadm smwm
ufdae (to) BT AT 79 Suw ufdas (S,) ®
waforr & —

(A r,=5,(v2/3) ® 1,=s, (3v2)
©Or1=5s,(v3/2) O T A T T
The fit recommended on shaft for ball bearing
mounting is -
(A) H7/g6
(C) H7/m6

a9 9T @ fou wme w e fhe

(B) H7/f6
(D) None of the above

B .
:::%6 (B) H7/f6 E;‘
H7/mé6 (D) 3 9§ $Ig T8
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181. A gimp}e supported h{lm“ carries a pl‘il"ll load at
its centre. The slope gy i« SUPPOFLS is
(where W=Magnitude of point load, { = span of
beam, El = ngld"\ of hcdm}
e (B) wer
3Kl o
M (D) we2
e 48E]
R e St dh ey B % 1@
?ﬁ TN T T R gwe it ov gem
C6 W =R R 1 oReor, ¢ = 41
T, El = BI gt A )
0 NE (B) we
3El S
(€) wet (D) we
16EI =
182. The sleeve or muff coupling is designed as a -
(%) Thin cylinder  (B) So1ig shaft
(©) Hollow shaft (D) Thick cylinder
WG AT TG BRI 3y fary w7 § e
s T &2
(ORSEIREE S (B) 3/ vqe

Al TYe (D) #Hrer fyerex >
183. The term cone angle is used in perspective “'_iCWS
for - -
~ (A) For any shape of objects
- (B) Rectangular objects
(C) Conical objects

.....

(&) 1000 N-m (B) 10,000 N-m

= (©) 100 N-m (D) 10 N-m

o SIS U BRI 200 SR, g9 sk s
ZOkWﬂwmﬁmmaﬁmﬁ_

89 F uriw F qrf ®1 weareer i fe
T & &2
(A) 500

(C) 1000 7=

¥ 20,000 7T
(D) 10,000 =7
A hot metal piece kept in air cools from 80°C 1o
70°Cin t1 seconds from 70 to 60°C in t2 seconds
and from 60 1o 50°C in t; seconds, then -
(A) The rclationship between t;, t; and t; will
depend upon the material of hot piece
(B’ <t < ts
(©) t; > 15 ¢
(D} li=f= i3

Wﬁvmqasnﬁmgmgmmnm#
80“(:"#?{]0(‘: %, 1, 9%e 5 7091 60°C 3ix 3
: f’-ﬁﬂ?’f&ﬁ‘CH&EB"@T?Tmm&a’r-
L,(&M,lzaﬂ?ha‘-ifmm'avégﬁﬁw
T iR ¥y
(B) W< 1 < 1=
‘\,M!)ﬁ_‘-)[_g
(D’tlttgzu
4 187. The size across
: to -
‘ (A) 09D (B) 12D
© 15D D) 15D +3mm

wm%ﬁwmwmgﬁ

186,

flats in a hexagonal nut is equal

B) 12D
(P) 1.5D+3 mm

Q by the battery are -

(A) W=0,Q=0

(B) W=180kJ,Q=0
©)W=60k1,Q= 120 kJ
(D) None of the above

3
(4) 1000 N-m (B) 10,000 N-m N1 R T e SR g @) e
(QLA400 N-m (D) 10 N-m ST 6w g 4 S @2
185. The bulk modulus of water with respect to air i B W=00=0
how many times? _BW = 180 kJ. Q=0
(A) 500 times (B) 20,000 times ©) w=60k1. Q=120kJ
(€) 1000 times (B) 10,000 times D) T3 &+ =
115 & e =
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189. Pseudo — plastic is a fluid for which

(A) Dynamic viscosity decreases as the rate ol
shear increases

(B) Newton's law of viscosity holds good

(C) Dynamic viscosity increases with the time
for which the shearing forces are applied

(D) Dynamic viscosity increases as the rate of
shear increases

WErefRes @ T qaref ® Rraa forg

(A) arqwavr gfey @ B s afiie T
we a8

(B) =y @ WA I g grer #van 8

(C) Syl del A B WY B e fere
vt 4% o ®

(D) arqwauer gf B & B W7 Al varrar

[

190. The controlling force curve used to determine

the stability and sensitiveness of governor is a

graph between the controlling force and -

(A) speed of rotation of the engine shaft

(B) radius of rotation balls '

(C) lift of sleeve

(D) height of governor

frga® @ a® & SYANT

# ffy & PR &3 @

¢ gz fg=or 99 @ 9 B

() g5 wve & i @
T (B) Az 3 ot B

(C) wiha @ forge

(D) Ta=R @ SHATE

3

i3

.-.—E:D(..z

‘”S
a

>

191. For general industrial machines, the ratio of

length of journal to its diameter for'a bearing
lies between —

(A) 0.8 and 1.5 (B) 3.0 and 4.0

(€) 1.6 and 2.0 (D) 0.5 and 1.0

| sirenfre 7T @ far, faaRs @ fog
ST @) FaTE 3R SHS AT BT U fhaa
4rg grar 27
@08 3w 1.5
(©) 1.6 3T 2.0

(B) 3.0 3R 4.0
(D) 0,53 1.0

192. The water is supplied at the rate of 0.02 m? per

second from a height of 3m to a hydraulic ram,
which raises 0.002 m/s to a height of 20 m from
the ram. Determine Rankine’s efficiency of the
hydraulic ram.
(A) 60.12%
(C) 62.96%

(B) 66.67%
(D) 64.56%
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193.

194.

195.

| S TR ™ dF 0.0
A Haz W ETESI

#1 a¢ | g B amgfd @1 ST
YpeE o I A/ 20 AT A

i 2| grgeifed ¥ B @A

s #yee 1
: - .f. ':r)_‘:é"
fred’ / EiL fi
2 it 0.002 Iﬂi’.;
sqrd a® 46 I

asrer BV »
ik v (B) 66.67%

60.12% I
:g: (:'.’ 96% (D) 64.56%
condition for a pair of square

‘ol f-locking : : o 2
(slcr’e «d screw and nut having a coefficient of
wread _ : s
friction ‘1’ load of thread ‘1" and pitch diameter
rne il

'd’ of thread 1s given by -

[ B) g2
(A) d <7 =
©) d> ﬂu[ (D) d > Ll]
IR 98 T, AR AT B S B HID _ﬂﬂ”r
Rerfey 1o TUTiE (), FS BT GArs (1) AR
oy it &1 @ma (d) &7y f&an S & -

1

(A) <" d>—
(C) ds> mul (D) d > ul
A pue liquid at a given pressure will transform
into vapour only at a particular temperature
k]].n:.\.ﬂ as
(AY Critical temperature E
(B) Saturation temperature -
(C) Absolute temperature
(D) Stagnation temperature
et fRT TT T W U6 Y& WA 3
faey aroHE R a9 ¥ gad oo 5 A
Wrar 8 -
(A) fade argHr
(B) Hqftt a9
(C) fAxder drgHT=
(D) TEXg ATIHT
A cantilever of length 4 m carries a uniformly
distributed load of 1 kN/m run over the whole
length and a point load of 2 kN at a distance of
I m from the free end. The maximum bending
moment will be -
(A) -16 kNm (B) -12 kKNm
(€) 12 kNm (D) -14 kNm
U% 4 IR oa1E & Dfechar §, qff e # |
kKN/m AR 99711 &9 9§ faafRka & 3R 2kN &1
U fig AR qow fig & 1 Fex 1 g w2
(A) -16 kNm (B} -12 kNm
(€) 12 kNm (D) -14 kNm
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196. An ideal gas is follow;
in

pipe at the rate of 4 3k & through an insulated

drop of 15% from (e
What 1s the

Sio 7 .

| &/s. There is a pressure

inle :

2 nlet to outlet of the pipe.

L

Energy 1oss

_ _ Y loss because of thi

g . 15

pressure drop dye ¢, fricti
ction,

Rew = 0287 Kg K nd the
temperature To is 300K ;
(A) 42.62 kW
(C) 38.14 kW

given that

reference

(8) 40.26 kW
(D) 35.13 kW
Wsﬁﬁ&mﬁwmﬁﬂ&kgm?ﬁ
X W WART W W ) g ¥ v @
JISEE T 15% B a9 fa &) wior B
R TH 9@ U & SR Hot @1y B

a7 8, (Rgas =0.287 ki/kg K 3R Hed e
To = 300K )?

F(};l.r"iz.ﬁ:a feir are
“(©) 38.14 fpait a1

(B) 40.26 fvatt are
(D) 35.13 fabeAT @€

197. The higher and lower temperature” in a
refrigerator working on reversed carnot cycle
are 35°C and -15°C. The capacity. of the
machine is 35.16 kW. Calculate the coeflicient
of performance (COP).

(A) 5.16 (B) 3.15

(C) 8.18 (D) 2.14
ﬁﬁmﬁ’i‘dﬂﬂimmawﬁmiﬁﬂ
Se iR Py amEE 35° FeRs SRS
Sorire & | weiE @ e 3516 fsiiTc gl
Saret @ ToIH P T B - o
(A) 5.16 AB) 315 & =
(C) 8.18 (2

198. A steel rod 1m long and 20mm X 20mm in
bjected to a tensile force of

¢longation of the rod. If
he rod material is 200

cross-section is su
40kN. Determine the
modulus of elasticity fort
GPa.

(A) 500 mm (B) 0.5 mm

(D) 50 mm

e RaRtw -

age 31 of 32

(C) 5 mm

199,

200.

U e A= 19ex & s 20 el x 20

f_‘m“ B ABTA § 40 kKN @ Tar 9 @

I ¥ | oe o g PuiRa 3| a2 o3

el & foe v w1 dtege 200 GPa ®

(A) 500 iy (8) 0.5 fre

© 5 farsy _ABY 50 forey

Increase in pressure at the outer edge of a drum
of radius R due to rotation at ® rad/sec, full of
liquid of density p will be -

(A) pwR? (B) pw’R/2

(C) D‘DERIQ (D) ".-.pm:R:

i:'f@lJTR B Y P aed PIR W o rad/sec W
Y9 & RO ga1g ¥ gfg Bl W $H 9
PP NS | WY BI7

(A) po’R2 (BYPw’R/2

(C) po*R¥2 (@) 2pw’R’

When a thigk plate is subjected to external
]i".i\it =

1. State of plane stress occurs at the surface

2. State of plane strain occurs at the surface

3. State of plane stress occurs in the interior
part of the plate

4, State of plane strain occurs in the interior
part of the plate

Which of these statements are correct?

(A) 1and3 (B) 2and 3

(C) 2and 4 (D) 1 and 4

mwﬂ@@ﬁiﬁ’lmﬁﬂﬂ?ﬁmﬁ?ﬁﬂﬂ

ST & —

1_-%@?&3%&&%%@@'&%

g_wmwﬁﬁiﬁm@ﬂﬁﬁ

3.teﬁt$snaﬁiﬁwmﬁmﬁauﬁ‘taaaﬁ
Reffy S Bl @

4 @ @ sifaR® wr i wHad Al A
Reffy Saa=1 &Rl &

mﬁa?hﬂw:mﬁ%?
(A) 1 3R 3 (B2 3R 3
(C) 2 3R 4 (D) 13 4
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